



# Convexity properties for some general integral operators on uniformly analytic functions classes

Nicoleta Breaz<sup>a</sup>, Daniel Breaz<sup>a,\*</sup>, Maslina Darus<sup>b</sup>

<sup>a</sup> Department of Mathematics, “1 Decembrie 1918” University, Alba Iulia, Romania

<sup>b</sup> School of Mathematical Sciences, Faculty of Science and Technology, Universiti Kebangsaan Malaysia, Bangi 43600 Selangor, Malaysia

## ARTICLE INFO

### Article history:

Received 3 December 2009

Received in revised form 5 October 2010

Accepted 5 October 2010

### Keywords:

Analytic

Univalent

Integral operator

Uniformly convex functions

## ABSTRACT

In this paper the authors prove some properties for two general integral operators on the classes  $\beta - \mathcal{UCV}(\alpha)$  and  $\beta - \mathcal{S}_p(\alpha)$ .

© 2010 Elsevier Ltd. All rights reserved.

## 1. Introduction

Let  $\mathcal{A}$  denotes the class of functions  $f$  of the form  $f(z) = z + \sum_{n=2}^{\infty} a_n z^n$  which are analytic in the open unit disk  $\mathcal{U} = \{z \in \mathbb{C} : |z| < 1\}$ . Denote by  $\mathcal{S}$ , the class of univalent functions.

A function  $f \in \mathcal{S}$  is a convex function of order  $\alpha$ ,  $0 \leq \alpha < 1$  and denote this class by  $\mathcal{K}(\alpha)$  if  $f$  satisfies the inequality

$$\operatorname{Re} \left\{ \frac{zf''(z)}{f'(z)} + 1 \right\} > \alpha, \quad z \in \mathcal{U}.$$

A function  $f \in \mathcal{A}$  is said to be in the class of  $\beta$ -uniformly convex functions of order  $\alpha$ , denoted by  $\beta - \mathcal{UCV}(\alpha)$  if

$$\operatorname{Re} \left\{ 1 + \frac{zf''(z)}{f'(z)} - \alpha \right\} \geq \beta \left| \frac{zf''(z)}{f'(z)} - 1 \right| \quad (1)$$

for  $-1 \leq \alpha \leq 1$ ,  $\beta > 0$  and  $z \in \mathcal{U}$ .

A function  $f \in \mathcal{A}$  is said to be in the class of uniformly  $\beta$ -starlike functions of order  $\alpha$ , denoted by  $\beta - \mathcal{S}_p(\alpha)$  if

$$\operatorname{Re} \left\{ \frac{zf'(z)}{f(z)} - \alpha \right\} \geq \beta \left| \frac{zf'(z)}{f(z)} - 1 \right| \quad (2)$$

for  $-1 \leq \alpha \leq 1$ ,  $\beta > 0$  and  $z \in \mathcal{U}$ .

The classes  $\beta - \mathcal{UCV}(\alpha)$  and  $\beta - \mathcal{S}_p(\alpha)$  were studied in [1].

We consider the next general integral operators defined by

$$F_{\gamma_1, \gamma_2, \dots, \gamma_n}(z) = \int_0^z (f_1'(t))^{\gamma_1} \cdots (f_n'(t))^{\gamma_n} dt$$

\* Corresponding author.

E-mail addresses: [nbreaz@uab.ro](mailto:nbreaz@uab.ro) (N. Breaz), [brazdaniel@yahoo.com](mailto:brazdaniel@yahoo.com), [dbreaz@uab.ro](mailto:dbreaz@uab.ro) (D. Breaz), [maslina@ukm.my](mailto:maslina@ukm.my) (M. Darus).

where  $f_i \in \mathcal{A}$ ,  $\gamma_i > 0$ ,  $i = 1, 2, \dots, n$  and

$$G_{\gamma_1, \gamma_2, \dots, \gamma_n}(z) = \int_0^z \left(\frac{f_1(t)}{t}\right)^{\gamma_1} \cdots \left(\frac{f_n(t)}{t}\right)^{\gamma_n} dt$$

with  $f_j \in \mathcal{A}$ ,  $\gamma_j > 0$ ,  $j = 1, 2, \dots, n$ .

**Remark.** The operator  $F_{\gamma_1, \gamma_2, \dots, \gamma_n}$  was introduced by Breaz et al., in [2] and  $G_{\gamma_1, \gamma_2, \dots, \gamma_n}$  by Breaz and Breaz in paper [3].

**2. Main results**

**Theorem 2.1.** *If  $f_i \in \beta_i - \mathcal{UCV}(\alpha_i)$ , with  $-1 \leq \alpha_i < 1$ ,  $\beta_i > 0$  for all  $i \in \{1, \dots, n\}$  and  $\sum_{i=1}^n \gamma_i \leq \frac{1}{2}$  then  $F_{\gamma_1, \gamma_2, \dots, \gamma_n} \in \mathcal{K}(\rho)$ , where  $\rho = 1 + \sum_{i=1}^n \gamma_i(\alpha_i - 1)$ .*

**Proof.** We have

$$\begin{aligned} \frac{zF''_{\gamma_1, \gamma_2, \dots, \gamma_n}(z)}{F'_{\gamma_1, \gamma_2, \dots, \gamma_n}(z)} &= \gamma_1 \frac{zf''_1(z)}{f'_1(z)} + \cdots + \gamma_n \frac{zf''_n(z)}{f'_n(z)} \\ \operatorname{Re} \frac{zF''_{\gamma_1, \gamma_2, \dots, \gamma_n}(z)}{F'_{\gamma_1, \gamma_2, \dots, \gamma_n}(z)} &= \gamma_1 \operatorname{Re} \frac{zf''_1(z)}{f'_1(z)} + \cdots + \gamma_n \operatorname{Re} \frac{zf''_n(z)}{f'_n(z)} \\ &= \operatorname{Re} \gamma_1 \left(1 + \frac{zf''_1(z)}{f'_1(z)} - \alpha_1\right) - \gamma_1 + \gamma_1 \alpha_1 + \cdots + \operatorname{Re} \gamma_n \left(1 + \frac{zf''_n(z)}{f'_n(z)} - \alpha_n\right) - \gamma_n + \gamma_n \alpha_n. \end{aligned}$$

Since  $f_i \in \beta_i - \mathcal{UCV}(\alpha_i)$ , for all  $i \in \{1, \dots, n\}$  we apply (1) in above equality and we obtain that:

$$\begin{aligned} \operatorname{Re} \frac{zF''_{\gamma_1, \gamma_2, \dots, \gamma_n}(z)}{F'_{\gamma_1, \gamma_2, \dots, \gamma_n}(z)} &\geq \gamma_1 \cdot \beta_1 \left| \frac{zf''_1(z)}{f'_1(z)} - 1 \right| + \cdots + \gamma_n \cdot \beta_n \left| \frac{zf''_n(z)}{f'_n(z)} - 1 \right| - \sum_{i=1}^n \gamma_i + \sum_{i=1}^n \gamma_i \alpha_i \\ &\geq \sum_{i=1}^n \gamma_i (\alpha_i - 1). \end{aligned}$$

From the last relation we have:

$$\operatorname{Re} \left( \frac{zF''_{\gamma_1, \gamma_2, \dots, \gamma_n}(z)}{F'_{\gamma_1, \gamma_2, \dots, \gamma_n}(z)} + 1 \right) \geq 1 + \sum_{i=1}^n \gamma_i (\alpha_i - 1),$$

which implies that  $F_{\gamma_1, \gamma_2, \dots, \gamma_n}$  is in the class  $\mathcal{K}(\rho)$ , where  $\rho = 1 + \sum_{i=1}^n \gamma_i (\alpha_i - 1)$ .  $\square$

Since  $-1 \leq \alpha_i < 1$  for all  $i \in \{1, \dots, n\}$  and  $\sum_{i=1}^n \gamma_i \leq \frac{1}{2}$  we have that  $0 \leq \rho < 1$ .

**Corollary 2.2.** *If  $f_i \in \beta - \mathcal{UCV}(\alpha)$ , for all  $i \in \{1, \dots, n\}$  with  $-1 \leq \alpha < 1$ ,  $\beta > 0$ ,  $\sum_{i=1}^n \gamma_i \leq \frac{1}{2}$  then  $F_{\gamma_1, \gamma_2, \dots, \gamma_n} \in \mathcal{K}(\rho)$ , where  $\rho = 1 + (\alpha - 1) \sum_{i=1}^n \gamma_i$ .*

**Proof.** In Theorem 2.1. we consider  $\alpha_1 = \alpha_2 = \cdots = \alpha_n = \alpha$ ,  $\beta_1 = \beta_2 = \cdots = \beta_n = \beta$ .  $\square$

**Corollary 2.3.** *If  $f \in \beta - \mathcal{UCV}(\alpha)$ , with  $-1 \leq \alpha < 1$ ,  $\beta > 0$ ,  $\gamma \leq \frac{1}{2}$  then  $F_\gamma \in \mathcal{K}(\rho)$ , where  $\rho = 1 + (\alpha - 1) \gamma$  and  $F_\gamma(z) = \int_0^z (f'(t))^\gamma dt$ .*

**Proof.** We consider  $n = 1$  in Theorem 2.1.  $\square$

**Theorem 2.4.** *If  $f_i \in \beta_i - \mathcal{S}_p(\alpha_i)$ ,  $-1 \leq \alpha_i < 1$ ,  $\beta_i > 0$  for all  $i \in \{1, \dots, n\}$ , and  $\sum_{i=1}^n \gamma_i \leq \frac{1}{2}$ , then  $G_{\gamma_1, \gamma_2, \dots, \gamma_n} \in \mathcal{K}(\rho)$ , where  $\rho = 1 + \sum_{i=1}^n \gamma_i(\alpha_i - 1)$ .*

**Proof.** We have

$$\begin{aligned} \frac{zG''_{\gamma_1, \gamma_2, \dots, \gamma_n}(z)}{G'_{\gamma_1, \gamma_2, \dots, \gamma_n}(z)} &= \sum_{i=1}^n \gamma_i \left( \frac{zf'_i(z)}{f_i(z)} - 1 \right) \\ \operatorname{Re} \sum_{i=1}^n \gamma_i \left( \frac{zf'_i(z)}{f_i(z)} - 1 \right) &= \operatorname{Re} \gamma_1 \frac{zf'_1(z)}{f_1(z)} - \gamma_1 + \cdots + \operatorname{Re} \gamma_n \frac{zf'_n(z)}{f_n(z)} - \gamma_n \\ &= \operatorname{Re} \gamma_1 \left( \frac{zf'_1(z)}{f_1(z)} - \alpha_1 \right) + (\gamma_1 \alpha_1 - \gamma_1) + \cdots + \operatorname{Re} \gamma_n \left( \frac{zf'_n(z)}{f_n(z)} - \alpha_n \right) + (\gamma_n \alpha_n - \gamma_n) \\ &\geq \gamma_1 \cdot \beta_1 \left| \frac{zf'_1(z)}{f_1(z)} - 1 \right| + \cdots + \gamma_n \cdot \beta_n \left| \frac{zf'_n(z)}{f_n(z)} - 1 \right| + \sum_{i=1}^n \gamma_i (\alpha_i - 1) \geq \sum_{i=1}^n \gamma_i (\alpha_i - 1). \end{aligned}$$

So, we have:

$$\operatorname{Re} \left( \frac{zG''_{\gamma_1, \gamma_2, \dots, \gamma_n}(z)}{G'_{\gamma_1, \gamma_2, \dots, \gamma_n}(z)} + 1 \right) \geq 1 + \sum_{i=1}^n \gamma_i(\alpha_i - 1)$$

which implies that  $G_{\gamma_1, \gamma_2, \dots, \gamma_n} \in \mathcal{K}(\rho)$ , where  $\rho = 1 + \sum_{i=1}^n \gamma_i(\alpha_i - 1)$ .

Since  $-1 \leq \alpha_i < 1$  for all  $i \in \{1, \dots, n\}$  and  $\sum_{i=1}^n \gamma_i \leq \frac{1}{2}$  we have that  $0 \leq \rho < 1$ .  $\square$

**Corollary 2.5.** If  $f_i \in \beta - \mathcal{S}_p(\alpha)$ , for all  $i \in \{1, \dots, n\}$ ,  $-1 \leq \alpha < 1$ ,  $\beta > 0$  and  $\sum_{i=1}^n \gamma_i \leq \frac{1}{2}$  then  $G_{\gamma_1, \gamma_2, \dots, \gamma_n} \in \mathcal{K}(\rho)$ , where  $\rho = 1 + (\alpha - 1) \sum_{i=1}^n \gamma_i$ .

**Proof.** In Theorem 2.4, we consider  $\alpha_1 = \alpha_2 = \dots = \alpha_n = \alpha$ ,  $\beta_1 = \beta_2 = \dots = \beta_n = \beta$ .  $\square$

**Corollary 2.6.** If  $f \in \beta - \mathcal{S}_p(\alpha)$ ,  $-1 \leq \alpha < 1$ ,  $\beta > 0$  and  $\gamma \leq \frac{1}{2}$  then  $G_\gamma \in \mathcal{K}(\rho)$ , where  $\rho = 1 + \gamma(\alpha - 1)$  and  $G_\gamma = \int_0^z \left(\frac{f(t)}{t}\right)^\gamma dt$ .

**Proof.** In Theorem 2.4, we consider  $n = 1$ .  $\square$

### Acknowledgements

The third author is under the Sabbatical Programme and supported by UKM-GUP-TMK-07-02-107, University Research Grant.

### References

- [1] M. Darus, Certain class of uniformly analytic functions, *Acta Mathematica Academiae Paedagogicae Nyiregyhaziensis* 24 (2008) 345–353.
- [2] D. Breaz, S. Owa, N. Breaz, A new integral univalent operator, *Acta Universitatis Apulensis* 16 (2008) 11–16.
- [3] D. Breaz, N. Breaz, Two integral operators, *Studia Universitatis Babeş-Bolyai, Mathematica, Cluj-Napoca* 3 (2002) 13–21.